R:\A - Projects\Project Folders\Proj 1201-1300\pf 1233\D. RWBC Drawings\2010\8871.1-.9\8871.6-.9 Rev 1.dwg, FL-8871.9

THERMARTRU

THERMA TRU DOORS

118 INDUSTRIAL DR., EDGERTON, OH 43517

SMOOTH STAR, FIBER CLASSIC

CLASSIC CRAFT & CLASSIC CRAFT RUSTIC

FIBERGLASS DOUBLE "IMPACT' DOOR
W/ "NON-IMPACT" SIDELITES
INSWING / OUTSWING

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida Building Code (FBC) structural requirements
including the "High Velocity Huricane Zone" (HVHI).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment fo base material shall be
beyond wall dressing or stucco.

When used in the "HVHZ" the opaque door complies with section 1626 of the Florida Building Code and does not require
an impact resistant covering. The non-impact sidelite must be protected with an impact resistant covering complying
with Section 1626 of the FBC.

When used in areas ouiside of the "HVHZ' requiring wind bome debris protection the opaque door complies with Section
1609.1.2 of the FBC and does not require an impact resistant covering. The door panel meets missile level "D" and
includes Wind Zone 4 as defined in ASTM E1996 and Section 1609.1.2.4 of the FBC. The non-impact sidelites must be
profected with an impact resisiant covering complying with Section 1609.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x buck masonry
construction.

Site conditions that deviate from the details of this drawing require further engineering analysis by a licensed engineer or
registered architect.

Qutswing configurations using threshold item #4 meet water infiliration requirements for "HVHZ".

Inswing configurations and outswing configurations using threshold item #5 do not meet the water infiliration
requirements for the "HVHI" and shall be installed only in non-habitable areas or at habitable locations protected by an
overhang or canopy such that the angle beiween the edge of canopy or overhang to sillis less than 45 degrees.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures & general notes
Door panel details (Smooth star)

Door panel details {Classic craft)

Door panel details (Classic craft rustic)

Door panel details (Fiber classic)

Sidelite panel details

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry construction
11 Frame anchoring - 1X buck masonry consiruction
12 Astragal details, Glazing details & Components

13 Bill of Materials

—_—
OV N|=—

107.00" MAX. FRAME WIDTH

74.5" MAX. FRAME WIDTH

36.00" MAX.

l PANEL WIDTH

98.00" MAX. FRAME HEIGHT
95.25" MAX. PANEL HEIGHT

/{
V4

/
VA

| 15.50" MAX,
FRAME WIDTH

| 13.75" MAX.

i

v
V4
/

/
V4

J

PANEL WIDTH

— INSWING  [107.00" x 98.00"| +45.0 -65.0
STAR OUTSWING |107.00" x 96.50"| +65.0 -65.0
SEAceRs INSWING  |107.00" x 98.00"| +65.0 -65.0
CRAFR OUTSWING [107.00" x 96.50"| +45.0 -65.0
INSWING  [|107.00" x 98.00"| +65.0 -65.0

RUSTIC
OUTSWING [107.00" x 96.50"] +465.0 -65.0
o INSWING  [107.00" x 98.00"| +45.0 -65.0
CLASSIC OUTSWING [107.00"x 96.50"| +45.0 | -45.0

N
n N
2 §n08
Ol E- nm®
M =@ <+
£ n20 -
.Eeeudl\g
QQQ'EZ
2o 5eNY
'3397,_3 o
R EATAR
Zob 5En 2
o O M EQVKE
& 2y N
gtz:ézzf(' )
§ 9 .28
ﬂ.—oOU
PRacdg §
o o o
g O =
] vk 3
c P
© L9
R
]
o
o
[
(%]
L
=
n
| &z
>0 .
P_:Q =Ly
Ly QE
2 |5 =
ﬂ:5 maqg
W |13 g
T il L
r—% 7] o
. & |35
m——.
g’ 5| &4
& gl =«
o o
=[>-
&r|m
2l n
B
2| |1
S
(vl
2
2
a
a
S
Py
kD
-lO
=z
foare: 5/19/08
SCALE:  N.T.S.
DWG. BY: DWS
CHK. BY: LFS
DRAWING NO.:
FL-8871.9

sHEET _1_ oF 13

© 2008 R.W. BUILDING CONSULTANTS INC.



RAA - Projects\Project Folders\Proj 1201-1300\nf 1233\D. RWBC Drawings\2010\8871.1-7\8871.6-9 Rev Ldwg, 2.9

EXTERIOR

-
L QETAEEE A-A 1

COO0000

D000 000C
T 0000000
[eReReRoReReReNo)
O0O00CC00
COO00O0C00
[oNeRoRoRaROR Wi ||
CoCOO00QO0
QOO0000CO0
COoCOOOCO00
H 0000000

loooooooo0
i

DETAIL A-4

| 0.80" ALE

Panel reinforcement

4l

TYP. 4

(13) CORNERS

OF PANEL

ORE
BREY

28.86% OPEN
AREA MAX,

..................... 3

INTERIOR

m HORIZONTAL CROSS SECTION

\2/

!—* 1.53 -\j é

7

—u={ 091"

o

pret—

L HINGE STILE

402

. LOCK STILE

0.8

rw 1.53" ﬁj i

.mmﬁ& RAIL

EXTERIOR INTERIOR

/"2 "\ VERTIC AL CROSS SECTION

2/

fu
a B g
w,'% LR
g8 £n 49
4 2
[ L
LEEFE
go"?ﬁz&g,
Zom £ ul
Eco o6& d
=2 5% B2 &
3),:) w
7] ,_JE_PN g
£0m BT 2
;‘Olﬁ Lo & E
O Ny B2
& g, 5 £
g ¢ 5253 8
Eamm-gm ™
L= S TP R "
asogg b e
P Rok &8 g
. o] o
@ g 2 g
il B )
4 e
L 2@
IR i
3
B
&
&
2
[ s i
] [ 2
=0 gﬁ
ES 7
i cop g
<@ ol BE
= 10 F0
o 2 ond
WE ln =
i G
“!_‘§ 48\__’
= wi S
3
8 [}
b
o
& =
o o
&=
174
2
5
=
N
L8] él
£
2
I
6.,
'
o
Ll
N
NS
&4
B
E}ATE:G5/22/08
scaLE:  NLTLS,
DG, Bv: DwWs
CHK. BY: LFS
DRAMING WO
F1—-8871.8

suegr 2 oF 13

@ ZOOE RW, BUILDING DUINBULTANTS NG,



RA\A - Projects\Project FoldersiProj 1201-13004pf 1233\D, RWBC Drawings\2010\8871.1-.\887L.6-.9 Rev L.dwg, 3.9

EXTERICR

LT

LT

o
ol
Aoy

TYPL4

CORNERS

— OF PANEL
| b [ )
DETAIL A-A 5
/T DOORPANEL  ©

Classic croft
OOOOOOOOOOOOOOO

COoCoO00000
COCO0O00000

CCO0000O0 0} '
P CO00000CO | '=‘

OO0
D & ¢

28.86% OPEN
AREA MAX.

(5)

CCO00000
DO

DETAIL A-A
Ponel reinforcerment

INTERIOR

/"1 \ HORIZONTAL CROSS SECTION

3/

1‘* 1.43 4-E

7

] 094" |

e 1,43

;O HINGE STILE

1—«——-_ 407 —“-i

AL

"‘" 143 ‘“1

l—w 1.4Y “Dl

!
n

¢\ BOTIOM RAIL

A

__

.

80 A

7

EXTERIOR INTERIOR

772"\ VERTICAL CROSS SECTION

o , U
@ L A
[ em &
: ¥ &
gmn £g
& [
I £
m’ﬁ?jwd s
Eo® 52 &
Z8g 2°
BT oo g
= 5%€ 5,
T sy 8
g% 3]
w9
v O 4
g}-uwgm
By
3287 °
Lamm-@m
O 5 kB
& =56 9
PRof ol
& 5
8 gge
c = P
@ g 8
£ i O
3
G
&
]

lyndon F. Schmidt, P.E. Neo. 43409

Lo
=4
= EE
— Q§
0y
FP I
PmroLad
i [ 6]
=2 |8z
IR I
e
R =
o e, w5
% S
gl |E
[ [a
El%

REVISIONS

2/27/12 JUPDATE TO 2010 FBC

NOJ DATE

i

NEW

pate: 05 /22 /08

SCME: NT.S,

oWG. By Dws

CHK. BY: LFS

DRAWING HO.
FL-—-8871.9

seEr 3 oF 13

© 2008 B.W. BUILDING DONSULTAMTE NG,



UM SANYIINENDD DRICTHTE AT BO0E @

BO¥PEY "ON ‘3'd PSS 4 uopudl SNOISIATY
T2 o UHARITE [ eyl Ll ol
€186 ‘oN UoRpZUOUINY JO SIDOLMED My 083 0L0Z OL AVadn|ZL/zz/z | L IN(vilz|a] « 7
1302} LH] - e el [ £y | d 5
suepUBUY [OUCISE60ld SO PIDOE DPLIGL IANTHWASSY H0 Luvd NP PR =]
LELE GG TLE “ON BUDUM ww g am 4m
CBGEE "14 OOLIDA DEZ %08 "O'd \Sw@ H004 SSYIoy3ald S BBl o
SONI SINVLINSNGD ONIaNNg L -YWeIHL 5 m ¢l W e &
g pesodeld syuBWINDOY LONG0Md 2 E @
O =
8 :
4 i Z Ly
&y
F B ,,““.‘_.m&...»ﬂ . 4 o ]
e e m
g
g
L
[0 fmay
O v
0 o
H
— JFF0L e
3 7 // /// // ﬂm
i
@ |
a [ :@.m )
@ =
Q
=
m —el 580 _A! i &
i ] . =
[a 7 £ e =
O o Y j 3 3 =
& &l o= : & 4. e
LLi L m % W” 64
5 = = - &| 4  C 9
(ol e 8] i s -
m.“m { =g ey
S — ® ®
o] .
b
Q.
=
.3
S
. Vg
©) W O & 53
N o=
2o O A R
=tz 2
a2 X ™~
Z 0w
@ 0o
e ol £
- = €S
R I < &
T°F & E
i Olo T
a A0 Q|5
e o
-1 (8 5

6 'OMPT A9y 6-9'TL88\6 -1 TLES\DTOZASBUIME DEMY TANEEZT 3NOOET-TOZT fold\ssopiog 1afoid\sialoig - yiy



RMA - Projects\Project Folders\Proj 1201-1300\pf 1233\D. RWBC Drawings\2010\8871.1-.94,8871.6-.9 Rev Ldwg, 5.9

EXTERIOR

- TYP. 4
Y CORNERS
OF PANEL

ufﬁ

|
>
t DETAIL Ach —

 DOOR PANEL
/ Flber classic

cocooocool
oXoXeNeXaNolo! ;
flooocooooo
= CO0OCOOO0
000000 O0
[eXeNoXeReRoNe!

[s¥eYuRoXeNoRsRoR !
Q0000 0E]

- Q%@
DCOO0COO ' )
OO0
b @

28.86% OPEN
AREA MAX.

Q’é
1, %

[cRepajoReeReNs]
L

DETAIL &-A
Paned reinforcerment

e

TN

INTERIOR

m HORIZONTAL CROSS SECTION

\&/

o

44 HHGE STHE

407 - i

e 153" —am]

0.88"

lw 1.53" ﬂj

( 5§j BOTIOM RAIL

._

EXTERICR INTERIOR

772\ VERHICAL CROSS SECTION

)
e @
B gm g
] ]
oM EZ 2
Z T g
_;a:
sEZ ML NS
%33?2 b g
= i .
H5o g8y ia
2 3w 2% .
17 SN 1 =
Zom BT 2
O F3 LG E
a\ONgﬁ- £
G
v%gz“ag 1
B EMg oy "
U__J.C [ .
=~ 0 0
g 2L g £
£ Dol oy 2
= 3¢ 5
A ok e
= L T
& o @
P
3
o
&
(=3
o
G =y
o Ty
I =
28 | o4
Ly (3] Wo
=L = =
Ea |3 &
e ik %
T 10 xT
5“"'?&_3{ ]
K
8 o
e |E
o o
=
1.4

REVISIONS

2/27/12 JUPDATE TO 2010 FBC

NOJ DATE

i

N3/

owre: 05,/22/08

sCat:  NLTLS.

CHK, BY: LFS

DRAWING NO.:
FL—-8871.9

seEr 5 or 13

© ZOETE B.w. BLHLOING SOMSLELTANTS 1M,



RANA - Projects\Project Folders\Proj 1201-13000pf 12331\D. RWBC Drawings\2010\8871.1-0\8871.6-5 Rev Ldwg, 6.9

13.75" MAX,
PANEL
WIDTH

649" MAX. D.LO.
EXTERIOR

—

T

8~

i

=

—

3]

z {

< 4

ol 7

e

iy

=z

iy

o4

W

2

|

/
D

. ?0 y SIDELITE PANEL

/i

=

INTERICR

1\ HORIZOMNTAL CROSS SECTION

1.53" %

\\;6:// {Classic croft & rustic)

657 MAX. D.LO.

2 G2
EXTERIOR

/.

Ly
=

Y

INTERIOR

24

72 "\ HORIZONTAL CROSS SECTION

=

\\é/ [Fiber classic)

67T MAX, BLLO, —a=]

EXTERICR

EXTERIOR INTERIOR
68
5 /4
47 7 /4
69

i

INTERIOR

/73 "\ HORIZONTAL CROSS SECTION

W Smooth star)

B

80.95" MAX . D.LO

EXTERIOR

Z

st

HEE]

a3

_ IO
79.09" MAX. DLO

/"4 "\ VERTICAL CROSS SECTION /5 \ VERTICAL CROSS SECTION

EXTERIOR INTERIOR

79.34" MAX. DL.O,

]

23

e

Z.

778 "\ VERTICAL CROSS SECTION

o @
2 gm ® 3
g B2
£n fwm T d
= g ® .
FEZ Y g
%333"22 ,
=T®Hn ot y o
HEe 38
2 5w 8 .
goﬂg-ﬁ
..onmg‘é 5
%‘ONgﬂ-z £
gggzﬁé
58 285
& 24686 c
R B - £
f Bon @ £
g g @ £
& Dk 3
& T
] 2 o
IR
o
3]
o
o
2
=
& ¥
o 3
e i
bwr -] =
X A <L
35 oo
o =
G5 Ll g
i YO 41
5 5 g &
5 O W
va
o fg
o o
s
[Edl18]
20 o
=6
SRE
3] %i
2
3
£
£
=3
o
Lok
N=
S
&3
e bt
=

oate: 05,/22,/08

scaE:  MNT.S.

oWE. BY: WS

CHie. BY: LFs

W {Classic craft & rustic)

\\é// {Fier clossic)

\\;&// {Smooth stor)

DRAMNG N
Fi.—8871.9

shEEr 8 oF 13

@ BOIOE FOW. BiipiMg SOoONSULTANTS NG,



a.

< 1
- . . [EN] N & :‘_‘3 =
o EE R8s g
Zhe Eqass
NOTE: % ZZE SEB Eg
L w % 256 88
: i, Z B H e T
1. Sidelite ass'y fastener; 4" from a2 53 ﬁi EE(NE
sach end and 6 more screws ”» 3 23Es NG
equally spaced between. INTERIOR urE 235585 ¢
(8 screws tofal per jomb.) - 1 osw ¢ BLS ey g
A1 oQ £ 2E 2
£ 0 g 5%
s t & =
°l S ZiE :
= ] & oy
=<
 / | EXTERIOR % :é 2
g 1-174° MIN. =4 |3 83
- EMB. {TYP.] 2 13 &
/"4 "\ HORIZONTAL CROSS SECTION £E |3 28
b q \_7_/ Shown w/TX sub-buck . g S
2 c
AV YD 2 |
A8/ 8 A8/ -
o
% 015
" CSINK o
p
o &
as —
“xo
ZZE 2
= ;o; ]
Z. % n
. INTERIOR z
B - INTERIOR
. :
b3
o
& o L
ZZE =
59 .
=< =
; EXTERIOR =
g T EXTERIOR N 05/22/08
soALE N.T.S.
1-1/4" MIN. i e, 8. DWS
EMB. {TYP.) - cHE 8. LFS
/"1 "\ HORIZONTAL CROSS SECTION /2™ HORIZONTAL CROSS SECTION BRAING 70
ot AL R e ‘ 8871,
\\7;// Gggggﬂgg gvggn inswing \\?’i// ﬁg?{;‘%&% évggn inswing \\z// gggsgéﬂé égggm nswing Fi—-8871.9

SHEET 7 oF 132

RANA - Projects\Project Folders\Prof 1201-1300\pf 1233\ RWBC Drawings\2010\8871.1-N\8871.6-9 Rev Ldwg, 7.9

© 2008 R.W. BLILDING DONSULTANTS 1



RA\A - Projects\Project Folders\Proj 1201-1300\pf 1233\D, RWBC Drawings\2010\8871.1-3\8871.6-9 Rev L.dwg, 8.9

1" MIN. FROM 1" MIN. FROM
e MASONRY EDGE —orft— MASONRY EDGE — s
(TYpP.) (TYP.)

EXTERIOR /4 INTERIOR

7“1\ VERTICAL CROSS SECTION

\isf,// Outswing shown - inswing
olso approved

EXTERIOR INTERIOR

7

2-172" MIN. FROM 2-1/2" MIN. FROM
MASONRY EDGE MASONRY EDGE ——sompem
{TYP.} ITYP.}
/4 \ VERTICAL CROSS SECTION
\\J Inswing coni’ iguration
see genercl notes sheat |
for "HVHE" water infillration
requirenents

2-1/2" MIN. FROM
—agea— MASONRY EDGE *
{TYP.)

2-1/2" MIN. FROM
MASONRY EDGE —som
(TYP.)

EXTERIOR /4

\

INTERIOR

ﬁ\\ VERTICAL CROSS SECTION

INTERIOR

EXTERIOR

2-172" MIN. FROM
MASONRY EDGE
[TYe)

W Shown w/1X sub-buck

EXTERIOR
V74

INTERIOR

2-3/2 MIN, FROM
MASONRY EDGE

| (TYP]

/"3 "\ VERTICAL CROSS SECTION
\\U Outswing configuration
sea general notes sheet |
for "HVHE" waler infiliration
requirements

INTERIOR EXTERIOR

2.1/2" MIN. FROM 112 MIN. FROM,
e MASONRY EDGE e MASONRY EDGE
{TYP.} (TYP.}

/"5 \ VERTICAL CROSS SECTION

\U Inswing configuration

see genergd notes sheet ]
for "HVHZ" water inflliration
requirements

-V ML FROM

" 217 M, FROM |
et MASONRY EDGE MASONRY EDGE ——omsm
(TYP.} (TYP.}

/6 \ VERTICAL CROSS SECTION
\\\&J/ Outswing configuration
see generdl notes sheet |
for "HYHI" water infiliration
requirements

5 B »rg
wo B +
o Qw 3
g -'—:m%v
ZJI‘\ g‘m -
FEZ W g
Ee@gzE
(kuc:::
P - S N
459 F 8y b
R BT
g N h
£ 0®0 BT Tt 2
o 03 MY L og E
@ONS&
[+
u%gz'ﬁNm
E"‘mﬁ'uw- *
8 9 £T¥6 -
& 246 0 c
33..{; & o H
s BT By 8
o 2 £
2 § zk ey
4 TP
& &g
P o
=
(5]
-3
&
o %]
S 3
s Yo s
o 25
i .s {_)g_,_j
A bt =7
L L &!m
%ﬁ = Wil
AR i By
22 |78
s-@ ) &
[i e o
£
8 o
2 b
& o
=
Ele
3
(2]
G
2 @
s &
o4 gu
2
=
P
i,
3
o
bl
NE
3
&
-
=
oate: 05 /22 /08
scate: NUT.S.
DG, BY: Dws
CHIS BY: LFS
DRAMING MO
FL-8871.8

suEet _§ oF 13

© 2008 RW. BuiroinGg CONSULTANTS MG,



RvA - Projects\Project Folders\Proj 1201-1300\pf 1233\D. RWBC Drawings\2016\8871.1- \8871.6-9 Rev Ldwg, 5.9

o
1 MIN. FROM 1" MIN, FROM >
stz MASONRY EDGE el MASONRY EDGE —emsom 9 s Fa
(TYP.) (TYP ) N IR PO
2-1/2" MIN. FROM 2-1/2" MIN, FROM g E£p Mg
st MASONRY EDGE MASONRY EDGE —— st CeB ST v g
(TYP.) (TYP.) INTERIOR EXTERIOR E oo g2 z
T ————— m—— & ‘g [ 20 = Y i
NOTE (W) |74 géﬁ“’iﬁ £
3237353 7
—+ zzg MG Bd555°
;E E s Baoan o §
£ i3 P
Yo = : SR
Z % 0 B N R L : 8
v & Y v vb ' '
v ¥ ) - B v '
R g ‘ 4 : v e _V > g
L e . : % g
2-1/2" MIN., FROM 2-1/2" MIN. EROM §8 S5
e MASONRY ED E—«—-L— R oD
EXTERIOR (0 INTERIOR EXTERIOR /4 INTERIOR SO ¢ MASONRY EDGE Lo ¥ 28
EATLRRIR LLALLSLC A=A HRILRASN {TYP.) (TYE.} %3 2 g "
%y fid g
/" 1"\ VERTICAL CROSS SECTION /2 "\ VERTICAL CROSS SECTION /"3 \ VERTICAL CROSS SECTION R
\\_/} gggsggwg éi‘\}gwn inswing \\g/} Shown w/ X sub-buck \\;9;}/ Outswing configuration g b %
NOTE: g z
EXTERIOR INTERIOR EXTERIOR INTERIOR 1. Screws thru head and sill =
TTTTTT—— R — FAR]

jomb located 3" from each
end and on center line.

INTERIOR EXTERIOR

REVISIONS

2727 /12 {UPDATE TO 2010 FBC

i

NOJ DATE

| _ - = - bATE: 05,722 /08
212 BN, FROM 2-1/2" MM, FROM 2-172° MIM, FROM 2-1/2" MIN. FROM 2.1 /2% MIN. EROM J 2] :
f27 MIN, FROM scAl NT.S,
e BMAASONRY EDGE —= MASONRY EDGE —wme— MASOMRY EDGE e PAASONRY EDGE —aeeae
CHK. BY:
/"4 "\ VERTICAL CROSS SECTION /"5 "\ VERTICAL CROSS SECTION 78 vg‘gz‘f@m cmgg SECTION ERANING 0
\\f?;// Inswing configuration ‘\\i/’ Inswing configuration W Cutswing configuration FL—8871.8
sHEET 9 oF 1.3

© 2008 R.W. BUILDING CONSULTAMTS |MNQ.



4" v—*—l A Y— 4"
Sei=ir
"‘ : 1 T — ;__
e ! o
L 1 %
N j
MASONRY i
OPENING ||
1 T 7
i e
j33]
i ¥ iz
1 MULLIONS | g
SHOWN FOR 2 Z
1 REF. ONLY i “"
i i I 1t
|| {]
o || {]
|| [
il || 1 |l
sk _ 1. L
BUCK ANCHOBING
NOTES:

1. 1/4" Elco Concrate screws anchoring 2x buck require g minimum 17 clearance o masonry
sdges, a 1-1/4" minimum embedment and o minimum 4° clearaonce to adjocent concrete
screws. Substifution of equal concrete screws from a different supplier may hove different
edge distance ond center distance requirsments. Concrete screw locations af the
cormers, mullions cenferfines and of astragal locations may be adjusted fo maintain the
minimum edge distance fo moror joinfs. I Concrete screw localions noted as "MAX. ON
CENTER" must be adjusted 1o maintaln the minimum edge disfance to morlar joints,
addifional Concrete screws may be required o ensure the maimum on center dimension
is not exceeded.

2. 14 ITW concrete screws anchoring frame and/or sit reguire @ minimum 2-1/2" clearance
fo masonry edges, o 1-1/4" minimum embedment and o minimum 3° clearonce o
adiocent concrete screws. Substifution of equal concrele screws from o different suppliar
may have diffsrent edge distance aond cenfer distance requirements. Concrete screw
locations arf the comers, mullions centerlines and ot astragal iocations may be adiusted o
micinioin the minimum edge distance 1o mortar joints. If Concrete screw locations noted
as "MAX, ON CENTER” must be adiusted o mainiain the minimum edge distance o morfar
folnts, addifional Concrete screws may be required to ensure the modmum on center
dimension is not exceeded,

3. 37187 ITW concrete screws anchoring fraome and/or sill require o minimum 2-5/8° cleogronce
to masonry edges, o 1-1/4" minimum embedment ond g minimum 2-1/4" clearonce 1o
adiocent concrete screws undess otheRWise noted by concrete screw manufacturer,

t-ﬂv 725

Il

=

FRAME

X BLJ('Z‘%‘{W1

o 25.5" ——womleme—— 255" ot 5.5 iy

HINGE JAMB

M

6" ____‘m__!

3| 1]

©
I TYP. HEAD &
I IAMBS

RN

&

HINGE DETAIL

FRAME ANCHORING

Masonry ZX buck construction

FTTT 1]

THIS ANCHOR REG'D ONLY
WHEN DP > 55 PSF

Astrogat siike plate

Documents Prepored By:

" B Bl R

813.858.9197
Sohmidt, P.E. No. 43409

P.O. Box 230 Valrico Fl. 338e5

BLHLDING CONSULTANTS, NG,
e OF Authorization MNe. 2813

Phona Mo.:
Floride Boeard of Professional Engineers

Ry

Certifica

14.33" MAX,
ON CENTER

THERMA-TRU
FIBERGLASS DQOR
BUCK & FRAME ANCHORING 2X
BUCK MASONRY CONSTRUCTION

>
]
P
£xl
2
g P
[
% o
e 2
0. [x
=
Eitn

ASTRAGAL STRIKE JAMB

727715 |UPDATE 10 2010 FBC

NG DATE

i

oATE: 05,/22,/08

VIEW B-B

VIEW B-2

scale: NS,

owe, g DWS

Asiragd shike plote
@ sl - outswing

Astragal shike ploie
@ sill - inswing

CHK. BY: LFS

LATCH & DEADROLT DETAR

DRABING NGO

Ft-8871.9

sEET 10 oF 13

RAA - Projects\Project Folders\Proj 1201-1300\pf 1233\D. RWBC Drawings\2010\8871.1- N\BBT71.6-% Rev 1.dwg, 10.9

REVISIONS

© 2008 kW, BLUILDiMG DoNSULTANTS IND.




R0A - Projects\Project Folders\Proj 1201-1300\pf 2233\D, RWBC Drawings\2010\8871.1- 9\8871.6-9 Rev Ldwg, 119

725

o

255

|

o @
o %08
Pn‘d
&

255"

]
T
.‘ G'
2ol

255

HINGE JAMB

NCOTES:

14" ITW conerete screws anchoring frame and/or sill require a minimum 2-1/2" clearance fo masonry edges, a 1-1/4" minimum embedment and
a minimum 3" clearance o adjiacent concrete screws. Substifution of equal concrete screws from a different supplier may hove different edge
distonce and center distance reguirements. Concrete screw locations at the comers, mullions centerfines and at asiragal locations may be
adjusted o malntain the minimum edge distance fo mortar joints. If Concrete screw locations noted as "MAX, ON CENTER" must be adjusted fo

THESE (3) ANCHORS REQ'D
& ONLY WHEN DP > 55.0 PSE

3| 6 ]

o 3" | e 3"

MASONRY
OPENING

FRAME /

1X BUCK

] P v TLE_HEJV P [ ! %
Yﬁ A-A B T
|
L ; | -
TYP. HEAD & I =%
JAMBS i o
SEE NOTE | IN SégmG;gR JE

TYP. SEE
NOTE 1

h!

] } REF, ONLY

1433 MAX. |
ON CENTER

THIS ANCHOR REQI'D
OMNLY WHEN DP > 550 PSF

FRAME ANCHORING

mMasonry 1X buck constructon

maintain the minimum edge distonce to mortar joints, additional Concrete screws may be required fo ensure the maxirmum on cenfer
dimension is not exceeded.

3/16" ITW concrete screws anchoring frame and/or silf require a minimurm 2-5/8" clearance to masonry edges, g 1-1/4" minimum embedrment

and a minimum 2-1/4" clearance to adjacent concrete screws unless otheRWise nofed by concrete screw manufaciurer,

/ NOTE 1 !
s B v
<8 i %%
FA-t A
.fod . wig
I h% % o 5 ] g =
@ £ _. %l
SE8 85N
28 2% ¥
=owa NS
. 58® BEL™Z
& 88 a 2NE
3 $§<% Z @
VIEW A-A 5525 o
Astragol strike plate CRef8e §
@ head o § -8 B
z & T % 2
a0 =
k= @ o g
/ Qg £3
W B @
[ =
S
RO
L [ned EB
i :3E§ tség
LI i 18 |y E2
A | =3 |g 29
&4 W [=
e E:Q: [ € o
Pand TR ] ] =
ﬁ @ A <=
] g e $2
3 &S
e g
LATCH & DEADBOLT DETAIL & B
=
/i
£§ o
1 . )
; i %?
| o 2
& o
o [
[t
L Vi "
I/ <
ASTRAGAL STRIZE JAMB T
HINGE DETAR =
SEENOTE T SEE S =
SEE NOTE 1 { NOTE 2 S 5
-l
\1 =
c : f M oaTE: 05,/22 /08
— R Qﬁ&ég r. 4
= scas:  N.T.S.
DWa, By: WS
VIEW B-5 VIEW B-5 ok &% LFS
Astragod stike plote Astragdl sitke plaie ORAING MO
FL-8871.8

@ sl - outswing

@ s - Inswing

sHEEr J1 oF 13

© 2008 R.W. BUILDING DENSULTANTS [ND.



RA - Projects\Project Folders\Proj 1201-1300\pf 1233\D. RWBC Drawings\2010\8871.1-\8871.6-9 Rev Ldwg, 12.9

THRESHOLD
inswing adjustable

585 '

™\ THRESHOLD
Inswing odiustable

587 *

THRESHOLD

Inswing seli~adjusi

et 457" '

)

THRESHOLD
Outswing coasial

' 575

v 1

THRESHOLD
Outswing standard

4@-' 10T e

[ 583 '

R

THEESHOLD

inswing
max. do rofing = +/- 50.0 pst

18.88" | 18.38" ——— ' 18.50" - 14,38 ———w
8 1/\
= ; 7
O 2 & 6 & f & [] [} & 1Y T B 8 8
z §
\TYE.
r»w 1.910"
e © & & | AN T
\_‘M“‘""’/i H_ 0.063H %
45 o
~ 325" : l 325" -
e 2n ‘ - 03
S — R TS z
= e 079 . ASTRAGAL DETAIL 0.75" == ==
RV Je——
, e
— L P | <
4.56 l é i . 2.1-%2” i j

NN

1.25"

172" GLASS
BITE

/1

3/47 THE.
GLASS

1/8° TEMP.
e /8

3;3:“““ AIR SPACE

e 18" TEMP.

SWIGGLE GLAIING
SPACER

7/16" GLASS __

-~ INSWING SIDELITE
/ Spocer

BUE |

13

{ '- IMSWING SIDELITE 39 OUISWING JIDELTE
./ Spocer Spocer
P THE.
GLASS 718" GLASS
g{iE -‘fgn THKV
P 1/8" TEMP, GLASS

 GLATING DETANL
/1 insuiotted gless

——— AIR SPACE
ey

e

T 1/8" TEMP.

_ SWIGGLE GLAZING

SPACER

1/

1/8" TEMP.

e AR SPACE

\ 1/8" TEMP.

; 3 y GEATING DETAH
T U insudoted gloss

25" STEEL
INTERCEPT
SPACER

?“Zfaggﬁ

Authorization Neo, 8813
tyndon F. Schmidt, P.E. MNo. 43409

SUILDING CONSULTANTS, INC,

P.2. Box 230 Vaolrico FL. 33585

Fhona MNo.: B813.658.2187
florida Board of Professional Enginesrs
Certificate OF ga

Ry

Documents Prepared By:

20

NE

o i

S B

e 2

[y ¢ e

&= ==

j & i ox @

<% 15 m(.)

=5 B8y

i I o

Ed g Ed

e B T

Bl v Iy Bl

2 o 2°
2l 1B

& Fox

=

AL

REVISIONS

2/27/712 |UPDATE TO 2010 FBC

i

NQJ DATE

oate: 35/22 /08

scaE: NS,

WG, BY: ows

CHK, BY: LFS

DRAYNG NOL:
Fi.—-8871.8

shger 12 of 13

© 2008 R.W. BULDING QOMSLLTANTS NG,



RiVA - Projects\Project Folders\Proj 1201-1300\pf 1233\D. RWBC Drawings\2010\8871.1-9\8871.6-.9 Rev ldwg, 139

o
>
%
3
o

BILL OF MATERIALS FIRTO Y
ITEM| DESCRIPTION MATERIAL _ |ITEM| DESCRIPTION MATERIAL gn FEV
A | 1XBUCKSG >=0.55 WOOD 30 | CLASSIC CRAFT RUSTIC DOOR - SEE DOOR PANEL DETAIL SHEET FOR DETAILS - gug s FANE:
B | 2XBUCKSG >=0.55 WOOD 31 | DOOR SKIN 0.090" THK. {CC RUSTIC} Fy = 4,000 PS! MIN. FIRERGLASS Z282 8. \u
C | MAX. 1/4" SHIM SPACE WOOD 32 | TOP RAIL {CLASSIC CRAFT RUSTIC} WwOOD 5848 AN
D | 1/4' X 2-3/4" PFH ELCO CONCRETE SCREW STEEL 33 | LOCK & HINGE STILE [CLASSIC CRAFT RUSTIC) WOOD/LVL . 387 E g oF
£ |MASONRY - 3,192 PS| MIN. CONCRETE CONFORMING TO ACI CONCRETE |34 | BOTIOM RAIL [CLASSIC CRAFT RUSTIC) COMP. S o xEs ;5\‘35‘;
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 35 | PANEL REINFORCEMENT 0.023" THK. {CLASSIC CRAFT RUSTIC) STEEL 8029y u
F11/4' X 2-3/4" PFH TW CONCRETE SCREW STEEL 36 | FOAM CORE POLYURETHANE | (5 3928, s
G | 3/16" X 31/4" PFH ITW CONCRETE SCREW STEEL 40 | SMOOTH STAR DOOR - SEE DOOR PANEL DETAIL SHEET FOR DETAILS - . § 38 §
| | 174" X 2-1/4" PFH ITW CONCRETE SCREW STEEL 41 | DOOR SKIN 0.072" THK. [SMOOTH STAR] Fy = 6,000 PSI MIN. FIBERGLASS 5 5%
J 11/4" X 3-3/4" PFH TW CONCRETE SCREW STEEL 42 | TOP RAIL {(SMOOTH STAR] COMP. £ =°
K | 1/4"X 1-3/4" PFH TW CONCRETE SCREW STEEL 43 | LOCK STILE [SMOOTH STAR) WOOD/LVL 8
L | #10X2-1/2" PFH WOOD SCREW STEEL 44 | HINGE STILE {SMOOTH STAR] WOOD
M | #9 X 2-1/2" PFH WOOD SCREW STEEL 45 | BOTTOM RAIL {SMOOTH STAR) COMP,
O | #8 X 3" PFH SCREW STEEL 46 | PANEL REINFORCEMENT 0.023" THK. (SMOOTH STAR) STEEL -
P 1 #10X1-1/2" PPH SCREW ASTRAGAL TO PANEL STEEL 47 | FOAM CORE POLYURETHANE x 2
@ | 1X MULLION $G 20.42 WOOD 48 | SIDELITE SKIN {SMCOTH STAR) FIBERGLASS 22 5
1 |INSWING ADJUSTABLE THRESHOLD {1S300AJ) ALUM/JWOOD | 49 | LITE FRAME (SMOOTH STAR) PVC IREE:
2 | INSWING THRESHOLD {IS300HF5] ALUM.JCOMP. | 50 | CLASSIC CRAFT DOOR - SEE DOOR PANEL DETAIL SHEET FOR DETAILS - 32 |z N
3| INSWING SELF ADJUST THERMAL BREAK THRESHOLD (ISP30M) ALUM.JCOMP. | 51 | DOOR SKIN 0.090" THK. {CLASSIC CRAFT) Fy = 6,000 PSI MIN. FIBERGLASS I
4 | OUTSWING COASTAL THRESHOLD ALUM./WOOD | 52 | TOP RAIL [CLASSIC CRAFT) COMP. L 2 f =
5 | OUTSWING STANDARD THRESHOLD ALUM./WOOD | 53 | LOCK STILE [CLASSIC CRAFT) WOOD/LVL Q S
6 |INSWING THRESHOID ALUM.JCOMP. | 54 | HINGE STILE [CLASSIC CRAFT] WOOD/LVL S iz
7 | DOOR BOTIOM SWEEP VINYL 55 | BOTIOM RAIL (CLASSIC CRAFT) COMP. o o
& | JAMB [PINE) 5G 2 0.42 WOOD 56 | PANEL REINFORCEMENT 0.023" THK. [CLASSIC CRAFT) STEEL 2
9 | JAMB [OAK) 5G 2 0.42 WOOD 57 | FOAM CORE POLYURETHANE
10 | WEATHERSTRIP FOAM 58 | SIDELITE SKIN [CLASSIC CRAFT) FIBERGLASS
11 | HINGE STEEL 60 | FIBER CLASSIC DOOR - SEE DOOR PANEL DETAIL SHEET FOR DETAILS -
12 | #10 X 3/4" PEH SCREW STEEL 61 | DOCR SKIN 0.137° THK. {FIBER CLASSIC) Fy = 6,000 PSi MIN, FIBERGLASS
13 | #9 X 3" PFH WOOD SCREW STEEL 52 | TOP RAIL [FIBER CLASSIC) COMP. ol
14 | LATCH STRIKE PLATE STEEL 63 | LOCK STILE [FIBER CLASSIC) WOOD/LVL L is
16 | #8 X 2-1/2" PFH SCREW STEEL 64 | HINGE STILE {FIBER CLASSIC} WOOD =@
18 | KWIKSET 200 SERIES PASSAGE LOCK STEEL 65 | BOTIOM RAIL [FIBER CLASSIC} COMP. o ﬁﬁ;
19 | KWIKSET 600 SERIES DEADBOLT STEEL 46 | PANEL REINFORCEMENT 0.023" THE. {FIBER CLASSIC) STEEL =
20 | INSWING SIDELITE SPACER FOR HP THRESHOLD (DB14HPA} PVC 67 | FOAM CORE POLYURETHANE =
21 | INSWING SIDELITE SPACER FOR SELF ADJUST THRESHOLD (DB14) PVC 48 | SIDELITE SKIN {FIBER CLASSIC) FIBERGLASS £
22 | OUTSWING SIDELITE SPACER PVC 49 | LITE FRAME {FIBER CLASSIC) PVC -
23 | #6 X 1-3/4" PFH SCREW [LITE FRAME} STEEL 70 | SIDELITE - SEE SIDELITE PANEL DETAIL SHEET FOR DETAILS - S
24 | GLAZING COMPOUND SILICONE 71 | SIDELITE TOP RAIL COMP. N
25 | SEALANT SILICOMNE 72 | SIDELITE STILE WOOD o
24 | #9 X 1" PPH SCREW [LITE FRAME] STEEL 73 | SIDELITE BOTTOM RAIL COMP, -2
27 | ASTRAGAL ALUMINUM | 74 | DEADBOLT STRIKE PLATE STEEL BATE: 05 /22 /08
28 | ASTRAGAL FLUSH BOLT STEFL 75 | ASTRAGAL STRIKE PLATE STEEL scuE N.T.S.
29 | ASTRAGAL FLUSH BOLT RETAINER ALUMINUM owe. B DWS
cuk. 8. LFS
DRAMING RO
FlL—-8871.8@

suEer §J3 oF 13

© 2008 R.W. BUILDING DONSLLTANTSE N



